





Ith August		1							_	and the second s
20% of 14	5,0	5,082 × 16								
	2.8		x 35/80	5001	0 4 8 3	8-92-	20202	-		
		1								
87 x 456 = 39672 write down the value	e of 870 x 0.456 × lo ÷ loog		396		10	2				
87 x 456 = 39672 write down the value Jacob says that 0.7 Explain why he is co	e of 870 x 0.456 x lo \div loog is greater than $\frac{5}{8}$ prrect	0.	396 7 = = 6 0.7	7	01	1, 9, 5/8				
87 x 456 = 39672 write down the value Jacob says that 0.7 Explain why he is co Result	e of 870 x 0.456 x lo ÷ loog is greater than $\frac{5}{8}$ prrect	O. S/8	396 7 = 2 6 0.7	7 2 7	pie	cha	art to	shov	v the r	results
87 x 456 = 39672 write down the value Jacob says that 0.7 Explain why he is co Result Win	e of 870 x 0.456 x lo \div loog is greater than $\frac{5}{8}$ prrect Percentage 50%	O. S/8 Alfie Wha	396 7 = 0.7 make at angl	Transa Salest			art to e use	shov e for '	v the r	results ?"
87 x 456 = 39672 write down the value Jacob says that 0.7 i Explain why he is co Result Win Draw	e of 870×0.456 $\times 10$ $\div 1000$ is greater than $\frac{5}{8}$ percentage 50% 36%	0. 5/8 Alfie Wha 14	396 7 = 0.7 • make at angl	7 2 7 3 2 7 3 3		cha d he	art to e use	show e for '	v the r flose f	results ?"

12.20















3 - 1 - 100 = 600 - 10How much does three fifths of a kilogram 600×20.17

= 12102

\$12,102

cost?

Name: Aswer







Name: ANSwer

5-a-day Platinum 15th August 468 ÷ 18 570×109 570×100 = 57000 S70 × 9 = 5130 26 1846 8 62130 26 62,130 An adult ticket for the cinema is £13.00 13×2= 26 A child ticket is half the price of an adult 6.5×4 = 26 + ticket. Mr and Mrs Henderson and their four children go to see a movie. Mrs Henderson has a voucher to save 20%. 20%= 10.40 52-10.40 = \$41.60 How much does she have to pay for the tickets? Find the area of the parallelogram 23mm 21mm $21 \times 30 = 630 \text{ Mm}^2$ 30mm Two identical regular pentagons are shown. Find angle x 102 (S-2) x180 : 540 540 : 5 = 108 2c= 144























Name: Ailswey	5-a-day Platinum	R
27th August		84
2072 ÷ 14	$\frac{3}{4} + \frac{5}{7}$	
148	$\begin{array}{c} 21 \\ 28 \\ 28 \\ 28 \\ 28 \\ 28 \\ 28 \\ 28 \\$	
148	28 or 113	í
Samuel says that		- Hui
$6 + 4 \times 9 = 90$		
Is he correct? No, it's $6+36 = 42$	-	
Sofa World and Sofa Land charge to deliver pizzas.	Describe the delivery cost of Sofa We	orld.
Sofa Land	Sofa Land has be done for you.	
cost (£) 10	Sofa Land The delivery cost is always £10 no m how far the sofa is delivered	natter
20 Delivery distance (miles)	Sofa World	
Delivery cost (£)	The delivery cost	
10	is \$10 for 20miles	
1 20 Delivery distance (miles)	(sop per nuile)	







